Figure S1. Fermentation kinetics of the 10 samples obtained at Harvest 1 (H1) from a) grapes from plants 1-
10 of vine row 1 in the young vineyard (Y V), b) bark from plants 1-10 of vine row 1 in the young vineyard
(YV), ¢) grapes from plants 11-20 of vine row 2 in the young vineyard (YV), d) bark from plants 11-20 of
vine row 2 in the young vineyard (Y'V), e) grapes from plants 1-10 of vine row 1 in the old vineyard (OV), f)
bark from plants 1-10 of vine row 1 in the old vineyard (OV), g) grapes from plants 11-20 of vine row 2 in

the old vineyard (OV), h) bark from plants 11-20 of vine row 2 in the old vineyard (OV).
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Figure S2. A. Fermentation kinetics of the 10 samples obtained at Spring 1 (S 1) from a) bark from plants 1-
10 of vine row 1 in the young vineyard (YV), b) bark from plants 11-20 of vine row 2 in the young vineyard
(YV), ¢) bark from plants 1-10 of vine row 1 in the old vineyard (OV), d) bark from plants 11-20 of vine row
2 in the old vineyard (OV). B. Fermentation kinetics of the 10 samples obtained at Harvest 2 (H 2) from a)
bark from plants 1-10 of vine row 1 in the young vineyard (YV), b) bark from plants 11-20 of vine row 2 in
the young vineyard (Y'V), c) bark from plants 1-10 of vine row 1 in the old vineyard (OV), d) bark from
plants 11-20 of vine row 2 in the old vineyard (OV). C. Fermentation kinetics of the 10 samples obtained at
Early Spring 2 (ES 2) from a) bark from plants 1-10 of vine row 1 in the young vineyard (Y'V), b) bark from
plants 11-20 of vine row 2 in the young vineyard (Y'V), ¢) bark from plants 21-30 of vine row 3 in the young
vineyard (YV), d) bark from plants 1-10 of vine row 1 in the old vineyard (OV), ¢) bark from plants 11-20 of
vine row 2 in the old vineyard (OV), f) bark from plants 21-30 of vine row 3 in the old vineyard (OV). D.
Fermentation kinetics of the 10 samples obtained at Late Spring 2 (LS 2) from a) bark from plants 1-10 of
vine row 1 in the young vineyard (Y'V), b) bark from plants 11-20 of vine row 2 in the young vineyard (YV),
c) bark from plants 21-30 of vine row 3 in the young vineyard (Y V), d) bark from plants 1-10 of vine row 1
in the old vineyard (OV), e) bark from plants 11-20 of vine row 2 in the old vineyard (OV), f) bark from
plants 21-30 of vine row 3 in the old vineyard (OV). E. Fermentation kinetics of the 10 samples obtained at
Harvest 3 (H 3) from a) bark from plants 1-10 of vine row 1 in the young vineyard (YV), b) bark from plants
11-20 of vine row 2 in the young vineyard (Y V), c) bark from plants 21-30 of vine row 3 in the young
vineyard (YV), d) bark from plants 1-10 of vine row 1 in the old vineyard (OV), e) bark from plants 11-20 of
vine row 2 in the old vineyard (OV), f) bark from plants 21-30 of vine row 3 in the old vineyard (OV).
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Figure S3. Dendrogram representing the genetic relationships among the vineyard strains.
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Y, C and T indicate isolates from vine shoots of the old vineyard (OV); G isolates from grape of old
vineyard; F isolates from vinification at sampling time H2 and P isolates from vinification at sampling time
H3.



